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7.3 Factoring by GCF (Greatest Commmon Factor)
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Algebra 1CC

“I can factor polynomial expressions using the Greatest Common Factor.”
Weat is facToting? The process of cpiiting o polynomial
nto e product of it factors.

There will be several ways to factor; the approach we will take depends on the polynomial.

Today, we will start by using the greatest common factor (GCF) of the polynomial.

3

Steps for finding a GCF: Example: 3x+12 ANSWER
1. Look at coefficients first. Find GCF.
2. A variable must be common to all NO varicble
terms to be a GCF. If it is, take the one | «
with the smallest exponent in_common. y 4 N
3. Divide all terms by the GCF to get (rema.“ WOUN
the remainder in parentheses. x - ‘ z G C F )

4. Check answer by re-distributing.

X+ = 3%+ 12V

Steps for finding a GCF: Example: 21cd -3d ANSWER

1. Look at igsfficien;; first. Find GCF.
Nnumber 21, 3 GCFs-3.
2. A variable must be common to all o .
terms to be a GCF. If it is, take the one d ‘o GCF g 3 d
with the smallest exponent ol +erms
3. Divide all terms by the GCF to get
the remainder in parentheses.
= H 3d(7c- 1)
4. Check answer by re-distributing.
Steps for finding a GCF: Example: 4y% — 24y ANSWER

1. Look at coefficients first. Find GCF.
numpers

H,24

2. A variable must be common to all
terms to be a GCF. If it is, take the one

with the smallest exponent

Gef=id.
1 o eems QICF= MY

3. Divide all terms by the GCF to get
the remainder in parentheses.

N(y-0)

4. Check answer by re-distributing.




Factor the polynomials by finding the GCF (Greatest common factor). Check by redistributing.

1. 2x+4 2. 5x+30 3. 6z+12
Re-distribute: Re-distribute: Re-distribute:
Q
=
= |4 Ty—=7 5. 8t+ 24 6. 9x —81
Re-distribute: Re-distribute: Re-distribute:
7. 24xy —4y 8. 18xy —9x 9. 36ab + 18b
Re-distribute: Re-distribute: Re-distribute:
=
>
~
S 10. 5x + 30y 11. 6a%?+ 18 12. 8m+ 36n
=
Re-distribute: Re-distribute: Re-distribute:
13. 15a? —30a 14. 10y? — 5y 15. 16bc* + GCF=8bc
8k<'
5 8bc(2¢+3 )
=
Re-distribute: Re-distribute: Re-distribute:
Answers Scrambled:
5(x+6) 9(x—-9) 5y(2y — 1) 7(y—1) 5(x + 6y)
8(t + 3) 15a(a — 2) 4(2m + 9n) 18b(2a + 1) 9x(2y — 1)
6(z+2) 6(a’+3) 2(x +2) 4y(6x — 1) 8bc(2c + 3)




Names in group

Why Are Handcuffs Like Souvenirs?

Use the distributive property to complete each statement below. Find your answer in the corresponding answer column.
Write the letter of that exercise in the box that contains the number of the answer.

7@+ b)=7a+ 5x + Sy = 5(x + )

9a + 9b = 9( + b)
dm+4n= (m+n)

4(5 +x) = 20 +

3(2x +9) =6x +

ab+3a=ab+ )

8(3x+1)= +8

ald+b)= + ab

® ® © ®
® @ O, ®
® ® @ @
® ® ® ®
© N & € xy+i5x=  (y+15) @)
@xc.,_;ovu + 10x @m# @a:...:_‘ull.s.*.s @<
0 | @ ®
© ® ®
W ® O, @
® @ ® @
O, % % ®
®

2(7x +4y)=14x + 30x mB...m:umA +n)

6(9 + 5x) =54 +
3, .3, .3._
N»+Nu+mol (@a+b+c)

7ax +2ay =a(7x + )

x(@+3b)=  +3bx
a(8x + 2y) =8ax +

Wﬁm+_9umm+ 4kx + 11ky = (4x + 11y)

3ay + 8by =y/( + 8b)

w.:m+osum+

e




DOUBLE CROSS

1. What do you get when you cross a chicken with a centipede?

5 8 11 14 12 2 14 1 10 13 11 6 7 4 13
2. What do you get when you cross a mink with an octopus?

12 7 3 12 11 3 9 12 14 10 13

= Factor each polynomial below as the product of its greatest monomial factor
f=:,' and another polynomial. Find your answer and notice the letter next to it. Each

time the exercise number appears in the code, write this letter above it. Keep

.,. :. working and you will find out what you get from these “double crosses.”
. i

(D 6x®+9x+27
@ 5x° + 30x° — 15x
(3) 14x® - 7x2 — 35x
(9) 25x° - 40x* + 10x
(5) 4x* +20x% + 122
(6) 3x*+12x2-33
(7) 49x* - 14x° — 28x
Answers:
(B #x®+5x+3)
(L 3(x*+6x% + 11)
©) 7x(2x?-x - 5)
V) 32 +3x+9)
©) 7x(7x® - 2x2 — )
® 5x(5x% — 8x + 2)
7X(7x2 + 2x2 — 3)
(D) 5x(x*+6x - 3)
(D 3(x* +4x2~ 11)

2a2 + 12ab + 6b>

(9) 6a°-18ab

3a°b? + 15ab°

(1) 8a'b* - 28a°b° + 4a%h?

(2 6a*b - 10a°b? - 6a?h°

(3 7ab® - s6ab

24ab* + 12ab® — 18ab?
' Answers:

(H) 6ab?(4b?—3b - 2)

(X) 2(a® + 6ab + 3b?)

(S) 7ab(b* - 8)

(M) 3ab?(a + 5b)

(R) 6ab?(4b?+ 2b - 3)

(N) 4a2b?(2a%b? - 9ab + 2)

(A) 2a%b(3a? - 5ab - 3b?)

(F) 6a(a?-3b)

(@) 4a°b*(2ab? - 7ab + 1)




